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1. One of the following is an incorrect sequence with respect to 
the rule, ‘Development follows an orderly sequence’. 

 1. Alphabet – Words - Sentences 

 2. Addition – Subtraction – Multiplication - Division 

 3. Baby teeth – Permanent teeth 

 4. Speaking – Listening – Reading – Writing  

 


  
  
  
  

2. According to Kolberg the characteristics in post conventional 

Morality 

 1. Establishment of Social order 

 2. Determining right and wrong by results  

 3. To think that everything that fulfills his needs is right 

 4. Want to follow universal moral values  

 


  
  
  


  
 

 



 

3. The Character of Early Adolescent stage  

 1. Stability of physical changes 

 2. Criticizing the community 

 3. Stay Calm 

 4. Dealing consistenty with hetro sexuals  

 
  
  
  
  

4. According to the Ericson the stage where individuals idolize 

and imitate others 

 1. Childhood 

 2. Play stage  

 3. Early Adulthood 

 4. Adolescence 

 


  
  
  
  

 



5. Universal grammar theory is related to 

 1. Skinner 

 2. Bandura 

 3. Chomsky 

 4. Galton 

 
  
  
  
  

6. The process to forget the painful things, failures, insults and 

experiences is 

 1. Projection  

 2. Repression 

 3. Regression 

 4. Compensation 

 


  
  
  
  

 



7. The father of mental health movement  

 1. Bernard 

 2. Gates 

 3. Clifford Beers 

 4. Jersild 

 
  
  
  
  
 


8. Persons with this type of thinking will get good score in tests 
related to creativity 

 1. Concrete thinking 

 2. Abstract thinking 

 3. Associative thinking  

 4. Divergent thinking 

 


   
  
  
  


  



9. Nagalakshmi makes friendship easily with new persons. This 
type of intelligence is 

 1. Social Intelligence 

 2. Mechanical Intelligence 

 3. Abstract Intelligence 

 4. Concrete Intelligence 

 


  
  
  
  
 

10. In an experiment on ‘studying the influence of glucose on the 
activeness of the student’, the variable activeness of the 
student is 

 1. Dependent variable 

 2. Independent variable 

 3. Intervening variable  

 4. Uncontrolled variable 

 


  
  
  
  


 

 

 



11. This law describes the tendency to perceive objects that are 
close to one another. 

 1. Law of continuity 

 2. Law of Proximity 

 3. Law of Similarity 

 4. Law of Closure 

 


  
  
  
  

12. “Any relatively permanent change in behaviour that occurs  

as a result of reinforcement and practice”. This definition is 
related to 

 1. Personality 

 2. Memory 

 3. Learning 

 4. Development 

 



  
  
  
  


 

 



13. Identify the wrong statement with regard to emotions  

 1. Children learn emotions by imitation 

 2. Children learn emotions by conditioning  

 3. Children are born with the emotion of fear 

 4. Along with attaining physical, mental maturity children 
get emotional maturity. 

 
  
  
  
  

 
 

14. The type of learning curves occur when learning material is 
initially very complex, gradually becomes easy and at last 
again they are complex 

 1. Positively Accelerated 

 2. Negatively Accelerated 

 3. ‘S’ shaped 

 4. Typical 

 



  
  
  ‘S’
  
 

 

 



15. This theory states that ‘the similarity of keyboard in type 
writer and computer makes a person who knows type writing 
can learn computer easily’ 

 1. Theory of formal discipline 

 2. Theory of Identical elements  

 3. Theory of generalization 

 4. Theory of ideals  

 



  
  
  
   

 
16. According to Vygotsky the following is an example for higher 

mental process 

 1. Questioning 

 2. Comparing  

 3. Identifying  

 4. Synthesis 

 


  
  
  
  

 

 

 



17. Identify the correct pair 

 1. Cognitive domain - Receiving 

 2. Psychomotor domain - Manipulation 

 3. Cognitive domain - Characterization 

 4. Affective domain - Analysis 

 
  
  
  
  
 

18. Secondary need among the following is 

 1. Air 

 2. Temperature  

 3. Exercise  

 4. Clothes 

 
  
  
  
  

  



19. The concept that formed in children between age group of  
3 - 5 years. 

 1. Time concept 

 2. Money concept 

 3. Colour concept 

 4. Beauty concept 

 
  
  
  
  
 

20. An abnormal forgetting that can be occurred from mental or 
physical trauma  

 1. Amnesia 

 2. Hallucinations 

 3. Hysteria 

 4. Schizophrenia 

 


  
  
  
  

 

 

 

 

 

 

 

 



21. The concept ‘Learning disability’ was introduced by  

 1. Samuel Kirk 

 2. Piaget 

 3. Vygotsky 

 4. Karl Rogers 

 


  
  
  
   
 

22. Meaning of the file format ‘.docx’ 

 ‘.docx’ 
 1. Word document 

 2. Word star document 

 3. Microsoft word open XML document  

 4. Microsoft plane text file  

  

23. ‘NCPF’ stands for  

 ‘NCPF’  
 1. National Council of Primary Frame work 

 2. National Curricular and Pedagogical Frame work  

 3. National Curriculum and Primary Education Frame  

 4. National Curriculum for Policy Frame work 

 

  
  



24. ‘Class Room is a miniature society’ these words are stated by 

 1. Kasturi Rangan 

 2. Aristotle 

 3. John Dewey 

 4. Rousseau 

 
  
  
  
   
  

25. According to ‘RTE – 2009’ ‘Elementary Education’ is 

 ‘RTE – 2009’  
 1. 1 – 5th  
 2. 3 – 8th  
 3. 1 – 7th  
 4. 1 – 8th  
   

26. ‘ADHD’ stands for  

 ‘ADHD’  
 1. Attention Deficit Hyper active Disorder 

 2. Arithmetic Deficit Hyper active Disorder 

 3. Attention Deviation Hyper active Disorder 

 4. Attention disorders in Hyper active Disorder 





 

 



27. Author of the book ‘On memory’ 

 1. Kohler 

 2. Koffka 

 3. Tolman 

 4. Ebbinghaus 

 ‘On memory’ 
  
  
  
  


28. ‘ABC’ card is used for  

 1. To record the student’s family background  

 2. To record student’s Health status 

 3. To store credits earned by student from online and 
distance mode  

 4. To record the transactions by students from online and 
bank 

 ‘ABC’ 
  
  
  


  

  

 
  



29. Reading disability  

 1. Dyslexia 

 2. Dysgraphia 

 3. Dyscalculia 

 4. Dysphasia 

 
  
  
  
  
 

30. One of the following is ‘Explorative Skill’ 

 1. Predicting the reasons 

 2. Having self – confidence & faith 

 3. Thinking creatively  

 4. Estimating  

 
  
  
  
  

 



31.  
  

 
 1.  
 2.  
 3.  
 4. 

32.  


 
 1.  
 2.  

 3.  
 4. 
 
33.  
 
 
 


 1.  

 2.  

 3.  

 4. 
 
34.  




 
 1.  

 2.  

 3.  

 4. 




35.  
 1.  
 2.  

 3.  

 4. 


36.  
 1.  

 2. 
 3. 
 4. 

37.  
 1.  

 2.  
 3.  

 4. 


38.  
 1.  

 2.  
 3. 
 4.  


39.  
 1.  

 2.  

 3. 
4. 


  



40.  
 1.  

 2.  

 3. 
4. 


41.  

 
 1.  
 2.  
 3.  
 4. 
 
42.   

 1.  
 2.  
 3.  

 4. 

43.   
 1. : 
 2. ; 
 3. ? 
 4. ( ̶ )  
 
44.  


 1.  
 2.  

 3.  
 4. 


  



45.  
 1.  

 2.  
 3.  
 4. 

46.  
 1.  
 2.  
 3.  
 4. 

47.  
 1. + + + + + + +  
 2. + + + + + + + 
 3. + + + + + +  

 4. + + + + + 
 
48.  
 1.  

 2.  

 3.  

 4. 
 
49.  
 1. +  

 2. +  

 3. +  

 4. + 


  



50.  
 
 1.  

 2.  

 3.  

 4. 

51.  
 
 1.  
 2.  
 3. 

4. 
 
52.  
 
 1.  
 2.  
 3. 
 4.  
 
53.  
 1.  

 2.  
 3.  

 4. 

 
 
54.  
 1.  
 2.  

 3. 
 4. 
 



55.    
 1.  

 2.  
 3. 
 4. 
 

56.  


 1.  

 2.  

 3. 
 4. 



57.  
 1. 4  
 2. 3  
 3. 2
 4. 1 


58.  

1.  

 2.  

 3. 
 4. 
 
59.  

1.  

 2.  

 3. 
 4. 

60.  

1.  

 2.  
 3. 
 4.  



61. Identify the grammatically correct sentence. 

 1. Parents work for there children 

 2. Parents work for their children 

 3. Parents work there children 

 4. Parents works for their children

62. Identify the correct verb for the sentence: 

 “Santana __________ a singer.” 

 1. is 

 2. are 

 3. am 

 4. be

63. One of the following is the term for a person who is all – 

knowing: 

 1. Omnipresent 

 2. Omnipotent 

 3. Omniscient 

 4. Omnifarious

64. Identify the modal verb in the following sentence that 

expresses advice: You _______ see a doctor if you’re feeling 
unwell. 

 1. would 

 2. must 

 3. could 

 4. should
 



65. Choose the correct capitalization for the name of a diety: 

 1. god 

 2. God 

 3. GoD 

 4. goD

66. The following is the correct practice when formatting 

dialogue: 

 1. Use a single paragraph for all dialogue. 

 2. Place dialogue tags at the end of each sentence 

 3. Start a new paragraph each time a different character 
speaks. 

 4. Use parentheses to indicate each character’s speech


67. Choose the sentence in the future continuous tense: 

 1. They will arrive soon 

 2. She is eating lunch 

 3. He will be sleeping at that time  

 4. I have finished my work.

68. Choose the structure for a negative sentence in the simple past 

tense: 

 1. Subject + did not + base form of the verb 

 2. Subject + do not / does not + verb 

 3. Subject + will not + verb 

 4. Subject + is / am / are + not + verb + ing  


69. Identify the type of sentence: “Come home as soon as you 

can.” 

 1. Declarative 

 2. Imperative 

 3. Interrogative 

 4. Exclamatory 

 



70. He wanted to go to the park. 

 Identify the correct transformation of the simple sentence 
above into a compound sentence: 

 1. He wanted to go to the park, because he went there. 

 2. He wanted to go to the park but he stayed home. 

 3. He wanted to go to the park, so he went there. 

 4. He wanted to go to the park, although it was closed. 

 

71. Identify the type of clause that adds information to the main 
part of a sentence: 

 1. Main clause 

 2. Dependent clause 

 3. Independent clause 

 4. Simple clause

72. The company offers excellent benefits. ________, many 

employees stay with the company for years.  

 Choose the option that fits the blank. 

 1. Nevertheless  

 2. In contrast 

 3. Although 

 4. As a result  

 

73. Choose the correct sequence of the words in which they occur 
in a dictionary. 

 i. difficult 

 ii. dinner 

 iii. difference 

 iv. demonstrate 

 1. iv, ii, iii, i 

 2. iii, i, ii, iv 

 3. iv, iii, i, ii 

 4. ii, i, iii, iv 


 



74. Choose the correct spelling of the word. 

 1. hysterical 

 2. histerical 

 3. hystericle 

 4. hystaricle 
 

75. Identify the correct example where the indefinite article is 
used with few and little in a positive sense:  

 1. I have few friends. 

 2. I have a little time. 

 3. My brother has few friends. 

 4. My brother has little time.
 

76. They cancelled the game _________ the rain. 

 Choose the correct preposition that fits the blank. 

 1. contrary to 

 2. except for 

 3. because of 

 4. in case of  

 

77. “And now the forest is deathly still as though it were midnight. 

 Choose the synonym that means “still”. 

 1. moving 

 2. active 

 3. busy 

 4. quiet
 

78. But more importantly, it is a tribute to some of the bravest 
Indians. 

 Choose the antonym of the word ‘bravest’. 

 1. unadventurous  

 2. dashing  

 3. heroic  

 4. courageous 
 



79. The following is the indirect speech form of: 

 He said, “Alas! I am undone.” 

 1. He exclaimed hopefully that he was undone. 

 2. He exclaimed sadly that he was undone 

 3. He exclaimed that I was undone. 

 4. He exclaimed with joy that he was undone.
 

80. Choose the meaning of the phrasal verb ‘bring up’ 

 1. to lower or decrease something  

 2. to avoid discussing a sensitive issue. 

 3. to neglect someone’s needs 

 4. to raise a topic in conversation  

 

81. A: Who cuts Brain’s hair for him? 

 B: Nobody. He cuts __________ . 

 Choose the option that fits the blank. 

 1. Brain self 

 2. myself 

 3. himself 

 4. each other 

 

82. Identify the interjection that would be appropriate to express 
pain. 

 1. Oh! 

 2. Ouch! 

 3. Yay! 

 4. Hey! 

 

 

 

 

 

 

 



83. Read the following passage carefully. 

 India’s art and architecture reflect a rich historical legacy. The 
intricate carvings of temples like Khajuraho showcase ancient 
craftsmanship. The vibrant murals of Rajasthan and the 
traditional Madhubani paintings from Bihar highlight regional 
artistic styles. From the majestic forts of Jaipur to the serene 
Buddhist stupas, India's architecture tells tales of its diverse 
cultural history.

 The Khajuraho temples are known for their _________. 

 1. modern design 

 2. vibrant murals 

 3. intricate carvings 

 4. Buddhist stupas   

 

84. Read the following passage carefully. 

 India’s art and architecture reflect a rich historical legacy. The 
intricate carvings of temples like Khajuraho showcase ancient 
craftsmanship. The vibrant murals of Rajasthan and the 
traditional Madhubani paintings from Bihar highlight regional 
artistic styles. From the majestic forts of Jaipur to the serene 
Buddhist stupas, India's architecture tells tales of its diverse 
cultural history.

 Identify the type of artistic style highlighted in Bihar: 

 1. Murals 

 2. Carvings 

 3. Forts 

 4. Madhubani Paintings 

 

85. Identify the foundational skills for effective communication: 

 1. Reading and writing 

 2. Grammar and translation 

 3. Writing poetry and prose 

 4. Listening and speaking
 

 

 



86. Identify the activity that involves rewriting sentence for better 
comprehension. 

 1. Note taking 

 2. Paraphrasing  

 3. Predicting 

 4. Role writing 
 

87. Identify the method that emphasises oral communication and 
natural learning process: 

 1. Grammar Translation Method 

 2. Direct Method 

 3. Bilingual Method 

 4. Situational Approach  

 

88. Identify the advantage of CLT. 

 1. Emphasis on translation 

 2. Boosts confidence in language use. 

 3. Focus on grammatical accuracy 

 4. Suitable for large classes 


89. Choose the best option that describes the position of English in 

India. 

 1. English is culturally and psychologically dominant  

 2. English has multifaceted acceptance but limited cultural 
influence. 

 3. English is solely a domestic language 

 4. English is rarely used for international communication.
 

90. Choose the best option that describes a general objective of 
teaching English. 

 1. Enable students to learn only grammar rules. 

 2. Enable effective communication using English as a 
medium. 

 3. Focus solely on written language skills 

 4. Teach English literature exclusively.  



91.    2 23 4 5 3 4 5x y xy xyz x y z        

 1. xy  

 2. xyz  

 3. xyz  

 4. xy  

 
92. All the three medians of a triangle 

 1. Always lie in the interior of the triangle  

 2. Always lie in the exterior of triangle 

 3. Some in interior and some in exterior 

 4. Always coincides with sides of the triangle. 

 
  
  
  
   

 
93. The angle of rotational symmetry of a parallelogram is 

  
 1. 90 

 2. 180 

 3. 270 

 4. 360 
  

 
  



94. The probability of getting a number which is neither prime nor 
composite when a die is thrown is 

 
 

 1. 
1

6
 

 2. 
1

3
 

 3. 
1

2
 

 4. 
5

6
 

 
95. An item was sold for 540 at a loss of 10%. Its cost price is  

(in Rs.) 

 10% 540
 

 1. 486 

 2. 594 

 3. 600 

 4. 640  
  



96. Amar purchased 2kg 500g laddoos, 1kg honey cake, 750g 
Jamoon and 250g Jilebi. Total weight of eatables he purchased 
is 

 1. 4kg 500g 

 2. 3kg 500g 

 3. 5kg 500g 

 4. 4kg 

 2 500 1750 
250


  
  
  
  
 
 

97. In adjacent figure   y + 2x = _________ 

 y + 2x = _________ 

 1. 90 

 2. 180 

 3. 135 

 4. 45  
 

98. Juveriya bought vegetables weighing 10kg. Out of this, 3kg 
500g is onion, 2kg 200g is tomatoes and the rest is potatoes. 
Then the weight of the potatoes (in kg) 

 3
5002200 
 

 1. 4.3 

 2. 5.3 

 3. 4.03 

 4. 5.03 

 



99. Number of intersection points of two intersecting lines is 

  

 1. 0 

 2. 1 

 3. 2 

 4. 3 

 

100. On certain sum, the interest paid after 4 years is 600 at 5% 
rate of interest per annum. The sum is (in Rs.) 

 45%
 600 

 1. 2000 

 2. 3000 

 3. 4000 

 4. 2400  

 

101. In ABC , If AB = 4cm, BC = 5cm, CA = 4cm then it is 

 1. Scalene triangle 

 2. Equilateral triangle 

 3. Isosceles triangle 

 4. Right triangle 

  ABC  AB = 4  BC = 5 
CA = 4 ___

  
  
  
  
 

 
  



102. Two numbers are in the ratio 5:7. If their HCF is 3 then their 
LCM is ___ 

 5:73

___ 

 1. 15 

 2. 21 

 3. 35 

 4. 105 

   
103. The supplementary angle of 56 

 56 ___ 

 1. 24 

 2. 34 

 3. 56 

 4. 124  
 

104. ABCD is a rectangle. If AC = 10cm then BD = _______cm 

 ABCDAC =BD = ____ 
 1. 5 

 2. 10 

 3. 15 

 4. 20 

 

105. The value of polynomial 22 3 2x x  when x =  3  

 x =  3  22 3 2x x    

 1. 25 

 2. 13 

 3. 17 

 4. 29 

 

 

 



106. The ascending order of the following is ___ 

 ___ 

 A. 2 23 2  

 B. 2 23 2  

 C. 2 23 2  

 D. 
2

2

3

2
 

 1. B, A, C, D 

 2. A, B, D, C 

 3. D, B, A, C 

 4. C, A, B, D 
 

107. Number of factors of 1001 

  
 1. 3 

 2. 5 

 3. 6 

 4. 8 

   

108. The mode of the data 5, 6, 5, 6, 3, 2, 1, 5, 6, 2, 6 is 

  
 1. 2 

 2. 5 

 3. 6 

 4. 5, 6 
 

109. 7 3
5 14

2 2
x x    then the value of x is 

 
7 3

5 14
2 2

x x  
 
x___ 

 1. 3 

 2. 5 

 3. 3 

 4. 5   



110. Which of the following is TRUE? 

  
 1. 36045 < 30154 

 2. 12121 > 121112 

 3. 200202 > 200240 

 4. 500811 > 500611  

 

111. In a bar graph, 3 units long bar represents 15.6 lakh population 
then the population represented by 1 unit bar is (in lakh) 

 315.6 

 

 1. 5.1 

 2. 5.2 

 3. 5.6 

 4. 5.8  

 

112. If
 

1
5x

x
    then value of is 2

2

1
x

x


 

 

1
5x

x
 

 
 2

2

1
x

x


 
___ 

 1. 23 

 2. 25 

 3. 27 

 4. 125 

 

113. Identify the non perfect square number 

  
 1. 324 

 2. 361 

 3. 441 

 4. 449  

 



114. The scale of a map is given as 1 : 60000000. Sonu measured 
the distance between two cities in the map as 30 mm. The 
actual distance between the two cites is (in km) 

 :

 

 1. 2000 

 2. 1800 

 3. 20000 

 4. 18000  

 
115. ‘Explaining the Mathematical logic’ is related to 

 1. Problem solving 

 2. Reasoning and proof 

 3. Connection 

 4. Communication 

 
  
  
  
  
 

  



116. Among the following is not related to “Good mathematics 
Textbook” 

 1. Problems must follow the order of Difficult to Easy 

 2. It must enhance their social and cultural values 

 3. Practice sessions must be placed for evaluation 

 4. Enough practice exercises for self-assessment. 

 
  


  


  
  
 

117. Characteristics of Inductive Approach are 

 a. Formulated from the examples 

 b. Continues from the concrete things to abstract things 

 c. Generalization by doing experiments or Observing  

 d. Tests Formulae / Generalization / Conditions 

 e. From abstract to concrete 

  

 a.  
 b.  

 c.  

 d.     

 e.  
 1. b, c, d, e 

 2. a, c, d, b 

 3. a, b, c 

 4. a, b, d  

 



118. “Where there is rhythm, there is a number” is stated by 

 1. Adam Smith 

 2. David Weeler 

 3. Plato 

 4. Pythogoras 

 
  
  
  
  
 

119. ‘APeKX’ stands for  
 1. Andhra Pradesh e- Knowledge, x-Forum 

 2. Andhra Pradesh e Knowledge eXchange 

 3. Andhra Pradesh expert key persons exchange 

 4. Andhra Pradesh exchange e-knowledge 

 ‘APeKX’ 
  e-x
 2. e-e 

 3. 
 4. e-
 

  



120. Meaning of the terms ‘Heurisco’ 

 1. I support 

 2. I find 

 3. I do 

 4. I know 

 ‘Heurisco’ 
  
  
  
   
 

121. When you measure the length of an object, the reading of the 
scale at one end is 1.2 cm and the other end is 3.6 cm, then the 
length of the object is  

 1. 4.8 cm 

 2. 2.4 cm 

 3. 3 cm  

 4. 
3

1
 cm 

 



  
  
  

 
3

1
 

 
  



122. Magnetic effect of electric current was first observed by   

 1. Faraday  
2. Oersted  

 3. Maxwell  

 4. Volta 

 

 

  
  
  


123. If two unequal forces act in the opposite direction of an object, 
the net force acting on it is equal to    

 1. Sum of the two forces 

 2. Product of the two forces  

 3. Difference  between the two forces  

 4. Zero 

  


  
  
  

   
  



124. The fossil fuel used to produce thermal electricity is  

 1. Coal 

 2. Coke 

 3. Coal tar  

 4. Petroleum  

 
  
  
  

  


125. 99% of air is a mixture of  

 1. Oxygen & Carbon dioxide  

 2. Nitrogen & Water vapour 

 3. Nitrogen & Hydrogen 

 4. Oxygen & Nitrogen 

 
  
  
  

  
 

  



126. Find the parasitic plant   

 1. Pitcher plant  

 2. Drosera 

 3. Mushroom 

 4. Cuscuta 

 
  
  
  

  


127. “Suicidal bags” of cells are  

 1. Ribosome 

 2. Lysosome 

 3. Centrosome 

 4. Vacuole   

 
  
  
  

   
 

  



128. The organism that pops out its stomach through mouth is  

 1. Starfish 

 2. Jellyfish  

 3. Amoeba 

 4. Snail 

 
  
  
  

  
 

129. The excretory organs in Nematoda are  

 1. Renette cells  

 2. Flame cells  

 3. Nephridia 

 4. Green glands  

  
  
  
  

  
 

  



130. The chlorofluorocarbons are not released from  

 1. Burning of tyres  

 2. Refrigerators  

 3. Aerosol sprays  

 4. Air conditioners  

 
  tyres
  
  

  
 

131. Match the following  

                SET-A    SET-B 

i) Dogs wave tails   a) Tactile communication 
ii) Cats rub against objects  b) Auditory communication 
iii) Monkeys groom each other c) Visual communication 
iv)  Wolves howl      d) Chemical communication 

 
                SET-A    SET-B 

i)   a)  
ii)  b)  

  iii)  c) 
iv)    d) 

 1. i-a, ii-b, iii-c, iv-d 

 2. i-b, ii-c, iii-d, iv-a 

 3. i-c, ii-d, iii-a, iv-b 

 4. i-d, ii-a, iii-b, iv-c  

 
  



132. The work that involves any skill to get an income is called  

 1. Profession  

 2. Hobby  

 3. Service  

 4. Volunteering  

 
  
  
  
  
 

133. The State that does not have boundary with Madhya Pradesh is  

 1. Maharashtra 

 2. Gujarat 

 3. Jharkhand 

 4. Chhattisgarh 

 
  
  
  
   


  



134. Munneru is a tributary of  

 1. River Godavari 

 2. River Krishna 

 3. River Penna 

 4. River Nagavali 

 
  
  
  
  
 

135. The port Lothal was situated on the shore of  

 1. Bay of Bengal 

 2. Arabian sea  

 3. Indian ocean 

 4. Red sea  

 
  
  
  
   
 

  



136. The capital city that has an ancient name of Ekasilanagaram is  

 1. Madhura 

 2. Dwarasamudra 

 3. Orugallu 

 4. Devagiri 

 
  
  
  
  
 

137. Identify the wrong statements regarding the British India 

 i. Warren Hastings was the first Governor General of 
 British India. 

 ii. Lord Mountbatten was the first viceroy of the British 
 India. 

 iii. “A History of British India” was published by a  
German economist James Mill. 

 iv. In 1946 a mutiny broke out on the ships of the Royal 
 Indian Navy. 

 
 i. 
 ii. 
 iii. 

 
 iv.  
 1. i, ii 

 2. ii, iii, iv 

 3. ii, iii 

 4. ii, iv 
 

  



138. Find out the mismatched pair related to Indus Valley  
Civilization  

 1. Main occupation   – Agriculture  

 2. Major entertainment  – Wrestling competitions  

 3. Port     – Lothal  

 4. Main God and Goddess  – Pashupathi, Mother  
        Goddess. 

 
   

    
     

     
 

139. The continent that lies completely in the western hemisphere is  

 1. Australia 

 2. South America 

 3. Africa 

 4. Europe 

 
  
  
  
   
 

140. The India’s first satellite was launched in 

  

 1. 1974 

 2. 1975 

 3. 1979 

 4. 1985 
  



141. The 9th goal of Sustainable Development goals is 

 1. Reduced inequalities 

 2. Industry, innovation and infrastructure 

 3. Decent work and Economic Growth 

 4. Life on land 

 9 
  
  
  
   

 

142. Identify the false statement regarding the distribution of 
population 

 1. Many more people live in the north of the equator than 
the south of the equator 

 2. Eighty percent of the world’s people stay in just 10 
countries. 

 3. Almost three quarters of the world’s people live in two 
continents, Asia and Africa. 

 4. The distribution of population in the world is uneven. 

 
  


   
  


   

  



143. These were used to detect poisonous gas in the period of 
Vijayanagara kingdom.  

 1. Dogs 

 2. Donkeys 

 3. Canaries 

 4. Camels 

 


  
  
  
   

 

144. The percentage of Argon gas in the earth atmosphere is  

  

 1. 0.93% 

 2. 0.39% 

 3. 0.09% 

 4. 1.93%  

 

145. This is not correct regarding science  

 1. Scientific knowledge is humanistic.  

 2. Scientific knowledge is empherical.  

 3. Scientific knowledge is absolute truth. 

 4. Science has many values.  

 
  
  
  

  
 



 146. These do not belongs to psychomotor domain  
 a) Imitating the drawing skills  

 b) Developing compassionate nature towards living beings  

 c) Handling the instruments expertly and takes readings 

 d) Identifying the relation between factors such as energy   
     flow and energy levels  

 
a) 

 b) 
 c) 
 d) 
    
 1. a, d 

 2. b, c  

 3. a, c  

 4. b, d    

 

147. The board that has transparent glass doors and is locked to 
secure information is  
1. Bulletin board 

 2. Felt board  

 3. Plastigraph board  

 4. Magnetic board 

 


  
  
  

  
 

 



148. The chairman of national steering committee that 
recommended National Curriculum Frame Work – 2005 was  

 1. Pro. Yashpal 

 2. Dr. Lakshmanaswamy Modaliar 

 3. D.S. Kothari 

 4. Pro. Ramamoorthi 

 


  
  
  
  
 

149. The general aims of social science do not include this  

 1. To explain human society 

 2. To promote world peace 

 3. To develop patriotism 

 4. Acquiring knowledge 

 
  
  
  
  
 

150. The percentage of weightage given to the slip test in 
Formative Assessment is 

 


 1. 20% 

 2. 30% 

 3. 40% 

 4. 10%   


